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Directions (Q 1-5): Find the correctly spelt words.

1. (a) Efficient (b) Treatmeant (c) Beterment (d) Employd

2. (a) Foreign (b) Foreine (c) Fariegn (d) Forein

3. (a) Pessenger (b) Passenger (c) Pasanger (d) Pesanger

4. (a) Benefitted (b) Benifited (c) Benefited (d) Benefeted

5. (a) Treachrous (b) Trecherous (c) Trechearous (d) Treacherous

6. Direction: Following is a tabulation of Number of ODI Cricket
Matches played, won, lost and drawn by five different countries in the
year 2016 with some missing data. Read the table carefully and answer

the questions.

—_— TotalfNo- No. of | No.of | No. of
ountry 9 Matches | Matches | Matches
Name | Matches

Won Lost Draw
Played

Australia | - | - w8 12
India | - | 100 | 44 | -
Pakistan =~ 150 | 90 | - | -
South

\Africa 162 ‘ ) ‘ Y ‘ -
|Sri Lanka ‘ - | 80 | - | -

How many countries/country have/has won more than 100 matches,
if the total number of matches won by all the countries is 475 and
total number of matches played by Australia is twice as
match/matches won by Srilanka?

(a) One (b) Two (c¢) Three (d) Four

Directions (Q 7-10): Each question has an underlined word followed
by four answer choices. You will choose the word that is a necessary
part of the underlined word.

7. Harvest

(a) Autumn (b) Stockpile (c) tractor (d) crop

8. Desert

(a) cactus (b) arid (c) oasis (d) flat

9. Book

(a) fiction (b) pages (c) pictures (d) learning

10. Language

(a) tongue (b) slang (c) writing (d) words

11. A train running at the speed of 60 km/hr crosses a pole in 9
seconds. What is the length of the train?

(a) 120 metres (b) 180 metres (c) 324 metres (d) 150 metres

12. In the first 10 overs of a cricket game, the run rate was only 3.2.
What should be the run rate in the remaining 40 overs to reach the
target of 282 runs?

(a) 6.25 (b) 6.5 (c) 6.75(d) 7

Directions (Q 13-15): In the following questions choose the word

which is the exact opposite of the given words.

13. ENORMOUS

(a) Soft (b) Average (c) Tiny (d) Weak

14. COMMISSIONED

(a) Started (b) Closed (c) Finished (d) Terminated

15. ARTIFICIAL

(a) Red (b) Natural (c) Truthful (d) Solid

16. A sum of money is to be distributed among A, B, C, D in the
proportion of 5: 2 : 4 : 3. If C gets Rs 1000 more than D gets, what
is B's share?

(a) Rs 500 (b) Rs 1500 (c) Rs 2000 (d) None of these

17. Pointing to a photograph of a boy Suresh said, "He is the son of
the only son of my mother." How is Suresh related to that boy?

(a) Brother (b) Uncle (c¢) Cousin (d) Father

18. Pointing to a photograph Lata says, ""He is the son of the only
son of my grandfather." How is the man in the photograph related
to Lata?

(a) Brother (b) Uncle (c¢) Cousin (d) Data is inadequate

19. Kamal started a business with Rs 25000 and after 4 months,
Kiran joined him with Rs 60000. Kamal received Rs 58000 including
10% of profit as commission for managing the business. What
amount did Kiran receive?

(a) Rs 75000 (b) Rs 70000 (c) Rs 72000 (d) Rs 78000

Directions (Q 20-22): In questions given below out of four
alternatives, choose the one which can be substituted for the given
word/ sentence.

20. Extreme old age when a man behaves like a fool

(a) Imbecility (b) Senility (c) Dotage (d) Superannuation

21. That which cannot be corrected

(a) Unintelligible (b) Indelible (c) Illegible (d) Incorrigible

22. The study of ancient societies

(a) Anthropology (b) Archaeology (c) History (d) Ethnology
Directions (Q 23-26): In each of the following questions find out the
alternative which will replace the question mark.

23.CUP: LIP:: BIRD : ?

(a) BUSH (b) GRASS (c) FOREST (d) BEAK

24. Flow : River :: Stagnant : ?

(a) Rain (b) Stream (c) Pool (d) Canal

25. Paw : Cat :: Hoof : ?

(a) Lamb (b) Elephant (c) Lion (d) Horse

26. Ornithologist : Bird :: Archealogist : ?

(a) Islands (b) Mediators (c) Archealogy (d) Aquatic

Directions (Q 27-30): Which of the phrases given below each
sentence should replace the phrase printed in bold type to make the
sentence grammatically correct? If the sentence is correct as it is
mark 'e' as the answer.

27. The small child does whatever his father was done.



(a) has done (b) did (c¢) does (d) had done (e) No correction required

28. There are not many men who are so famous that they are frequently
referred to by their short names only

(a) initials (b) signatures (c¢) pictures (d) middle names (e) No correction
required

29. The man to who I sold my house was a cheat.

(a) to whom I sell (b) to who I sell (¢c) who was sold to (d) to whom I
sold (e) No correction required

30. They were all shocked at his failure in the competition.

(a) were shocked at all (b) had all shocked at (¢) had all shocked by (d)

had been all shocked on (e) No correction required

ANSWERS
1. (a) 2. (a) 3. (b) 4. (c) 5. (d) 6. (a) Explanation: By observing the
table, we can predict the answer as either one or two. Total no of
matches played by Australia = 2xmatches won by Srilanka= 2x80= 160.
No of matches won by Australia= 160 — (43+12)= 105 (>100)
Total no of matches won by South Africa=475- (105+100+90+80)= 100
(not greater than 100)
Only Australia has won more than 100 matches, so the answer is one. 7.
(d) Explanation: To harvest something, one must have a crop, which is
the essential element for this item. Autumn (choice a) is not the only
time crops are harvested. There may not be enough of a crop to stockpile
(choice b), and you can harvest crops without a tractor (choice c).
8. (b) Explanation: A desert is an arid tract of land. Not all deserts are
flat (choice d). Not all deserts have cacti or oases (choices a and c).
9. (b) Explanation: The necessary part of a book is its pages; there is no
book without pages. Not all books are fiction (choice a), and not all
books have pictures (choice ¢). Learning (choice d) may or may not take
place with a book.
10. (d) Explanation: Words are a necessary part of language. Slang is
not necessary to language (choice b). Not all languages are written

(choice c). Not all languages are spoken (choice a).
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11. (d) Explanation: Speed= (60><E) m/sec= (?)m/sec.

Length of the train = (SpeedxTime)
. . 50
- - Length of the train= (? Xx9) m= 150 m.

282—(3.2x10)}

12. (a) Explanation: Required run rate= { 40

13. (c) 14. (d) 15. (b) 16. (c) Explanation: Let the shares of A, B, C and
D be Rs 5x, Rs 2x, Rs 4x and Rs. 3x respectively. Then 4x—3x=1000
=x=1000
-+ B's share = Rs 2x= Rs (2x1000)= Rs 2000.

17. (d) Explanation: The boy in the photograph is the only son of the
son of Suresh's mother ie, the son of Suresh. Hence, Suresh is the father
of the boy. 18. (a) Explanation: The man in the photograph is the son of
the only son of Lata's grandfather /e, the man is the son of Lata's father.
Hence, the man is the brother of Lata. 19. (¢c) Explanation: Ratio of the
profits = 25000 x 12 : 60000 x 8
=25%x12:60x8=5x3:12:2=5:4x2
=5:8
Let the total profit = x.

Then Kamal received 1073 = % as commission for managing the
business
Remaining profit =x — % ?—g which is shared in the ration 5 : 8

X 9x 5
Kamal's share = 75+ [W]X [E) = 58000
3
= Xx+9x (E] = 580000
45
= X (1 +§] = 580000
58
= X (ﬁ] = 580000

1
= X (ﬁ] =10000

= x=130000
Kiran's share = 130000 — 58000 = 72000.

20. (c) 21. (d) 22. (b) 23. (d) Explanation: Cup is used to drink
something with the help of lips. Similarly a bird collects grass with the
help of its beak to make the nest. 24. (c) Explanation: As Water of a
River flows, similarly water of Pool is stagnant. 25. (d) Explanation: As
Cat has Paw similarly Horse has Hoof. 26. (c) Explanation: As
Ornithologist is a specialist of Birds similarly Archealogist is a specialist
of Archealogy. 27. (¢) 28. (a) 29. (d) 30. (e)




